Ratio

o(d o) (rad)

..........................................................................

..................................................

::::::;;@;f;ﬁ:};j """"""""""" PN
5 5 o 5

ER *“+ *

I I

Ratio

e + : :
0-5_'5 e s e hs - - g

—=— DQM_mkFit_TTbase

—e— DQM_mKkFit_TTtest125xNEW

.......................................

.........................................................................

3 -2 -1 0 1 2 3
TP ® (PCA to beamline)

)

o(® p_/p

107

3 -2 -1 0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


